4. Joogogon I

4.1 0O0OO0OO0OOOO0OOOO0

2000300000000000000000000 Y00000000
0000000000000 0000000

00 nO000000000 n0000000000000DO0O0 OO0
000000200000

1 1
(1,2), <2> , (1,2,3), <§>

00000 200000002000000030000000300000
gooododooboobouooooboonooooooboooouon
O0o0ooooooooboobooooooon
T = <$1> = "2y, x2), b = (21, 22).
T2
ooo t(*)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
000300000300 (3.6)DDDDDDDDDDDDDDDDDDDD

gboboobooobooboobooooooobobobobobomm

an

Y1
(w1, 22) ( ) =T1Y1 + T2y2, (T1,22,73) <y2> = T1Y1 + ZT2Y2 + T3Yys3.
Y2 Y3

0000000000000000 z-y=txy 0000000000
00 2x2(3x3)000000000000 200300000000
049000000000000 20000030000000000000

")20240 70 20/40 (20240 70 1000)

1)DDDDDavector,DDDDDDD “00007” 00000000000000a matrix, matrices.
gooo0ooO0o0o0ooOo0o0oooOooooooooOo

2>DDDDascalar; 0JO00000a row vector; 000 00Oa column vector.

3})DDDtransposition.

4)DDDDDasquare matrix.
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oo00o00oooOo0o00ooooOoOo0o0UoooooOooOO A0

an A=) =@ (o= () e ()

. <a1> (Oq = (a11,a12)>

Q2 az = (a21,a22)
O0o0Doo0oDoOoO00oooOoO0 ADDDOoOoOoooDoooooooo
ggddddoooooooodg
0000 AD (41)000000000000000O0O0O 2, 00000
E0000000000O00Db0ODbODbO

Az = <a1x> , EA = (€aq,€as).

Qo®

O0000DO0oOon0 AD BOOOoDOoooOoooOoooOooOoO
an= (e ww) (4= () B- o).

gddddoooooooooooooooooooooooboobooon
dddddddddddodoooooooooooo
200000 AO0DOOO

(4.2) AA ' =A'A=F O&:G %)

00000000 A-'00000000AODOO0OO0ODOOOOOOODOA!
0 A0000O0O0ODOO0O0O0O FEFO2000000000000D00O00OO
0%00002000000 202000000 ¢ 200000 ADOOO

(4.3) Ex=wx, ¢E=¢  EA=AE=A
0 (41)000 AOOOO
(44) det A := a11a22 — A12a21

O00D00O0O0detAD ADODOOOO Y000 ADDOODOOOO
0000000 detA#0000000000A°' 00000000000

1 Qg2  —a12
4. At = .
(4.5) det A ( )

—a21 a1

5\00000a regular matrix; 00 OO the inverse matrix; 0 O 00O the identity matrix.
9000: determinant.



39 (20240701) 040

4.2 000O

000020000 f(r,y) 000000 z="(z,y) 00000 f(z)=
f(z,y) 00000O0O0OODD00 P00 3.220 (1)000000 P =a,b)
0000000000 v="(v,0) 0000000 () 000000

’y(t):P—|—tv:t(a—|—v1t,b—|—v2t).
00 41. 00 DcR?200000000 f000 P=(a,b)e DO0OO
g 'U:t(vl,vg)DDDDDDDDDDDDDDDlDDDD

F(t) := f(a+vit, b+ vot) = f(P + tv)
0+=00000000000000000000000O0O F(0)O fO

POUODO 00000000000 ®00000000 00000 v0O
oooooooooooofo pPOOODODODODOODOOO

o0 32300000000

00 4.2. 00 DCcR?0000 fO0 P=(a,b)e DO0O0O0OOOOO f

O pOOOODOOODOOOOOO0 00000000 O0O0DODODOO

(46) (df)p’l) = %(0,, b)Ul + %(a,b)vg (’U - t(vl,vg)) .

s 000000 O POOOOOOOOOOCOOOOOOCOO fOOOO
. fe(a,b)\ ¢
i = () =)
000000000 f0 PODOODOOOOOOOD 90000000
000000 46)000 «“20000

(df)pv = (grad fp) - v
00000000000oooon grad fp 0000000 0O0OOOOO
0o0ooO0o PO0OO fOOODOOOOOODOODOOOODOO 4400

7O0O0000000000000000000000000000000000000000000000
8)0 0000 the directional derivative.
90000000 the gradient vectord
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43 0000OO0OOOD (DODODOOODO)

0000000000000 323000000000000000000
oooon
00 4.3 (00000000 '), 20000 f(e,y) 0020020000

r=x(§,m), y=1y(&n)
0000000000000 WYo20000

F&m) = flz€mn),y(&n)
00000000000000
of

SE6n) = 5 (al6m.u(€m) G ) + B (ol w(€m) GoEm)
FHE) = (e vl€m) G (6 + G (ol mute.m) GL(E )

00 44. 00000000000 430 f(67) 0000 f(z,y) 000 f
oooo f(f,n)DDDDDDDDDDDDDDDDDDDDDDDDDDD
0000000000U0OU00oo0U0 (DoboooUuo)0oo 430000
of _0fos ofoy  of ofon ofoy
¢ 0x ¢ 9y oE’ On Oxdn Oyon
goodobooooooooooobooooboood
2= f(x,y) = f(x(&n),y(&n) = [(&n)

000000000000000000

05 _9:0v 020y Dz _0:0v D0y

o0&  Ox 0 Oy O¢’ on Oz dn OyOn
" RP00 R2O000000000 OO DcCRO000000O00
F:D—-R?00000000 DOOO (6,9 0000 R2000 F(£n)
D0000000D0000000F(&,n) 0 R20000000000 (z,y)
000000 z,y0 (6000000000 F:R2>D—R?0000

19000000000 the chain rule.
W xiym: eta. 000000 &, n, ¢ (zeta) 0000000000 (z,y,2) 000000000000
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DcCR?’0000000 200000000000000000

(4.7) F:R*D> D3 (&n) — (2(&n),y(&m) € R
0000020020000 =(&,9),y(En 0 FOOODDOO YOo000
0000000000000000000000

r=F¢ (z=(zy), &= (&)
0000000000000 F=(2,9):R2>D—R?*0 Ck-0 0DO0O
0¥0000 «,y0 Ck-0 (260000000000000

00 45. 00 DCcR?00 ct-000 F=(z,y): D—-R*000D0O

dx B
d
ng Ye  Yn

0000002000000 FOOOOOODDOODOD 000 90

m 0000000000000 00 D, U CR*OOOOOODDOO
F:D—-ROG:U—-R 00000 z=(x,y) eD0O0O0OO Flz)eU
ooooooo

GoF:R*> D>z G(F(x)) €R?
00000000 GoF:R2>D—-R?*0F0O GOOOOOYWOOOO
00 46. JOODOOF, GOOOO C-0000

d(G o F) = dG dF, ninlnln d(Go F)(z) = dG(F(x)) dF(z)
000000D00000D00000000000
00 DCR?000 2000000000000000O0
idp: D> ax+—idp(z)=x €D

0pO0O0O0O0OO0Y®WOooDDODO DCcR2OODUCR20000 F:D—U

12)DDDamapDDD: components.

¥)gpoO000D00000000000000000000O0 ¢k00000000000000000
000000000000 00000000000000

14)0 00 the differentiald 0000 00 the Jacobian matrix0d 0 000 Jacobi, Carl Gustav Jacob
(1804-1851, D).

15000 the composition.

16)0 00 00¢the identity mapd 000 D 00D0000000000idp 000 id000000000
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O0000GoF=idp, FoG=idy 000000 G:U—-DOOOODO
O00GO FOOOOOOOOG=F10o0O0o 90

0 4.7. 00
D:{(r,e)eR2|r>o,—g<a<g}, U={(z,y) € R?|z > 0}
0ooo
F: D> (r,0) — F(r,0) = (rcos,rsinf) € U,
G:U >3 (z,y) — G(z,y) = (\/mTan )GD
D000 G=F"Y,F=G"'000000,(r,d)eDO000-3<0<Z
000 Tan 'tan@=¢0000 1.60000000r>0000000

Go F(r,0) = G(rcosf,rsinf) <\/7«ZCOS29+rzsm 9, Tan~! T:;I;Z)
r

= (r, Tan" ' tan @) = (r,0) = idp(r,0).
D006=Tan '(y/z) 000000000000000 -3<0<%00

O cosf>00000000xz>000000
1Y 1 B 1

cosTan™ " = = cosf = — = =
r V1+tan® 0 \/1+tan2Tanflﬂ \/1+%

N
Vatty? o Vaty?

=sinf = cosftanf = < L. Y

VaZ 2 e /2% y?
00000 FoG(z,y) = (\/xQ—l—y Tan™ 12):( y) =idy(z,y). ¢
00 4.8. 0000000 (z,y) 00000 470000 (r,0) = G(z,y) O

00000, () 000D0000D0000000D00000O0 (2,y) 000
000 0000 00000oooooa 8o

-1

sin Tan

SHES

047000000(z,y) 00D000DO0LO0ODOOOOOOODOOOOODOO

170000 the inverse map; F~!: the inverse of F/F-inverse;

¥)0000the polar coordinate system; 0 0 00 O 0O the orthognonal cooridnate system; 00
00 0000the Cartesian coordinate system; 00000 : Descartes, René (Renatus Cartesius;
1596-1650).
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goddddddoooooooooooooooooob
D={(r0)|r>0—r<0<w}, U={(z,y)|y#0000 z>0}

O000h:U RO
1Y

Tan (z >0)
x
T s
h(z,y) := { —Tan 1y 5 (x £0,y > 0)
~Tan ' 2~ T (2<0,y<0)
Y 2

ooo ¥0
F: D3 (r,0) —s F(r,0) = (rcosf,rsinf) € U,

[79(xy)l—>Gasy (\/mhmy)eﬁ

oooo Gt

0

G:
F = G =F'00000000000 (z,9) 00000
(r,0) = G(z,y)

(z,y) 00OODOOO

00 4.9. 00 F:R2oD—-UCR?0O000G=F'0O0000FOF!
00O cl-ooooo

dF~'=@F)"* 0000 d(F ) (F(x)) = (dF(z))
000000000000 “-1”70 000000000000

-1

000000000000000 EODOO0OC000DO0F 'oF =idp OO
046000000 dF dF =E,00 FoF !=idy 00046000000
dFdF~'=FE000000 dF'04dF 00000000 O

m JOgdgd

0 4.10 (D00O0OOOOOOOO). O470000000OO
(4.8) x = x(r,0) = rcosb, y=y(r,0) = rsind.
o000 F: (r,d)— (z,y) DODODO 4500

(4.9) IF — T To\ cosf) —rsinf
' Yr Yo sin 6 rcosf)’

¥ p(z,y) 000 (0,0) 00 (z,y) 000000000000 x00000000000000000
0000000000 C 0O Fortran 0000 atan2(x,y) 0000000000000000
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000000000 G=F"'0000000490000000 (4.5)00

(410) dG = r Ty _ (dF),l _ CcOS sin
0. 0y *% sin 0 % cos 6

oooooooboog

0 o 1 0 0 o 1 0
4.11 — = 00— — —sinf— — =sinf— + 0.
(A1) gy meosban = Dsinfgg. g, Tsnlg + Deostg,
0000 Cc%000 f(r,y) ODODD
*f  *f
4.12 Az=A —
(4.12) i=Al=50 1 g,
000000 ADODOOOODODOODODO0O0OO0OO0O0OOO 210000
DDf(:L‘,y)D(éLS)DDDD(T@) ooooooooooaAafo fOor, 6
gdddooooooooooood ( 1)|]|:||][||:J
ﬂ—cos HfTT—gcosﬁsmeTg—l- sin 0f99+lsm 6'fr+—sm00059f9
Ox? r r
f .2 2 1 2
—= =sin“ 0 frr + 7005951n9f7n9+ cos? 0fgp + = cos? OfT——sm90059fg
Oy? r r

gooobooood
1 1
(4'13) Af = facac +fyy = frrJF ;frJF ﬁf&@- <>

44 000

00 DCcR?2000000020000 F(z,y) 000000 F(z,y) =0
020y00000000000 000000”00000000000

Flay) =0 <+  y=g¢@).

00000000 F(e,y) = 0000 y=¢(z)00000000000
y=¢(x) 00002000000

0 4.11. (1) F(z,y) =2z-3y+500000F(z,y) =00 y = £(2z+5)

000000000000 z=1By—-5 000000
(2) F(z,y)=2*+¢y*-100000000 F(z,y)=00 y0O0OO00DO

200000an implicit function.
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00000000FO00000 U :={(z,y) eR?|y>0} 0000

(z,y) eU OO F(z,y) =0 & y=+V1-22 (-l<z<]1)
O0y0200000000000000007U":={(z,9) eR?|y<
0} 00000000000 y=—v/1-22000000000000
{(z,9)]z>0} 00000 F(z,y) =00 z=+/1—¢200000 ¢

m 00000 000 f(z,y)=00 yO0OOOOO0O0000000000
00000000000000000000

00 4.12 (00000000000). 00 DcR200 ¢*000 F: D —
RO F(zo,90) =000000 (0,%) € DOOD0D00DOF,(zo,y0) #0
000000000000POO0O0OO0UCDOOROOOOOO 700
00000 ¢k-00 10000 ¢: I »RO0D0D00000000000

(z,y)eU 00 Flz,y)=0 <& xel 00 y=qp).
0000 zel0000 F(r,e(x))=000000.

O0000000POODOOOOOF(z,y)=00y0000000000OO
0000000000 412000 0 yOOOOOOODOOOOE(P)#0
000 POOUOO F(z,y)=00 x00000000000O0OOO

gbooboboboboboboboobooobooon

0 4.13. R® 00000030000 F(a,y,2) := 2> +y>+22-10
c~-00000od P=(0,0,1)0 F(P)=00000000000000
0F(P)=2#£000000000000U = {(z,y,2) € R¥| 2z > 0}0
Vi={(z,y) eR*|2?+y? <1} 00000

Flz,y,2) =000 (z,y,2) eU= z=+/1—-22—4200 (z,y) €V
00000000 F(r,y,2) =00 20000000000 {(z,y,2) €

R3|F(r,y,2)=0} 0 R3O000000000DO 10000000000
;00000000007 0000000000000000 290 ¢

21)DDDasphere;DDDDDDDDDDDDDDDDDDDDDDDD aballJ000O0OO0OOOOOO
000 the Northern Hemisphere.
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" 0000000 OO0 DcCcR2O0 C®-000 FOOOOOOO C=
{(z,y) € D|F(z,y) =0} 000000 PeCOOOOOPOO0O R20
00 UO000000000000 CNUO C*-000000000000
0000CO POODOOOOOOOO2200000000000000
0000000000000000 ¢CO00000000000000000

0 4.14. C = {(z,y) €eR?|2?+»? =1} 00000000000 100 %)
00000000000000000000000 PeCO

U = {(z,y) |y >0}, Us:={(z,y)|y <0},
Us :={(z,y)|z >0}, Us:={(z,y)|z <0}

00000000000000 j=1,2,3,40000 CNU,; 0 C~-000
Vi—2? (-1<z<1)00000000000 &

00412000000000000

00 415. 00 D CR2O000000 ¢>~-000 FOOOO C :=
{(z,y) € D|F(z,y) =0} 00000 PeCO (dF)p #(0,0)000 C O
00000000000

0 4.16. 00 F(x,y) :=2(2% —y?) — (x> +¢y>)?> 0000

dF(py) = (do(1 —2® —y?), ~dy(1 + 2* + 7))
000 dF,,) =(0,0000000 (z,y) = (0,0), (1,0), (-1,00 00000
0000000 F(+1,0) #00F(0,0) =00000C = {(z,y) | F(z,y) = 0}
0 (0,00 J00000000000000000000000000000
0200000000490 ¢=000000 o

m (JOgoood

00 4.17. 00 4120000 F(z,y) =00 y=¢(z) 000000000

gbooboobobobobo

dole) __ O, ) / %@,y) (v = o(@)).

22)00000000a smooth curve.
2)00a circle; 0000000000 1000the circle centered at the origin with radius 1.
200000000 the lemniscate.
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000000 F(z,e(z))=00000 000000000 323000 430000

_a LOF e L OF L dplo)
_OF oF dp(x)
DD4.12DDDDDDDDDDDDDDDDFy#ODDDDDDDDD O
dy F,
EID4.17|:||]DDDDDDDDDDDDDDDDDd—ZfF.
€z y
O000F(z,y)=00 z=9¢(y) DOOO0DO0O0O0O0OF, #0000000
dvp Fy(z,y) dx F,
—(y)= -2 (z=9(y goodd  —=——.
dy() Fy(2,y) ( ) dy F,
O O 4

4-2

4-4

4-5

004200000000

00000 (2,y) 00000000000 f(z,y) =2’ +ay+y> 0000
0000000000000000000000000000000 1000
000000000000 10000000000000000000000
00000000000000000000000000000000000
000000 3220 (2)0000

0P=(e,b)0000000000020000 f0POOOOOODO (df)p
0 (0,0) 000000000000 f00 POOOOOOOOOD v000
0000 (df)p(v) D00DDOO0O00 v 0O (grad,)p 00000000000
00000000000000000000b0000000000000000

0 P=(sb)0000000000020000 f0 POOOOOOO
(df)p O (0,00 00000000 POOO fO00000 ~(t) = (z(8),y(?))
(v(0)=P)0000000000000¢t=00000 0000000 4(0)
O (grad f)p D00000000000O0O0O0O0DOOD0“I00000000
00oooo”o

OO0 ¢c(#0) 0000 =a+ct,n=xc—ct 0000000 (¢t,z)+— (&n)
0000000000C%000 f(t,2) 0000

f R0 a0

oz~ “ax2 T ¢ vean
00000000000 000000 fi —cfee =00000 C?%000 f
00200 C%-00 10000 F,GO0000 f(t,z) = F(z+ct)+G(x—ct)
00000000000000000
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4-10

000 fu=c’f., 00000000000 212000000000000°“0
00000000000 000 20000020000 2-1100
0000000 f(x,y,2) 0000 Af = fow+ fyy+f-- 000000 ADO
000000000000000 20000 2-13000000000

x = rcosfcosp, y = rsinf cos p, z=rsing

(r>0,—-r<0<m—-2<¢p<Z)

gooad
Te Ty Tz cos B cos sin 6 cos ¢ sin ¢
— _ 1 sin@ 1 cosb
Oz oy 6. - T CoS @ T COS @ 0
1 f 1 : 1
Pz Py Pz —;cos@sm(p —;sm@sm«p - cos

goboobgooog
2
Af:f’l‘T—’_;fT—’_

Do0o00o0oo0ooon.
F(z,y)=2>—4* 00000 F(z,y) =0000000 R*0000000
000000000000000000000000000
0041200000000 C = {(z,y) € R?*|F(z,y) =000 P = (x0,%0)
0000 F,#00000P 0000 CO000 y=¢(x) 0000000
0000000000000000

Py FooF2 = 2F, Fy Fy + Fyy F2

dw2 ¢ (x) = — F3 :
0000000 Fe 000 (z,90(x) 000000000

00 ¢« 0000 F(z,y) = 2(2® —y?) — (@® +y*)? —a, C = {(z,y) €
R?|F(z,y) =0} 00000000 CO0O00 y=¢(z) 00000000
000000000 0000000000 CO000000000000a
0000000000000000

R®*000 DOOODOOO C* 0030000 F(z,y,2) 000000
0 F(z,y,2) = 00000000000 P = (a,b,c) D000 F(P) =
F(a,b,c)=00000000000P 0000 F,, Fy, F, 000000 0
000000000000P 0000 F(x,y,2)=00 z,y, 2000000
000000000000000

F(z,y,2) =0 <

1 1 1
mfee + ijsw - ptansoﬁp

z=£(y,2), y=n(z1z), z=((zy)
0 PO0O0OO F(x,y,2)=000000000000

%y M) ) = — Ordy 0z _
8y(y’z) Ozzx) 8:10(%2)_ b oo Oy 0z 0x !

ooooooooooooo

25) 00 00000d Alembert, Jean Le Rond (1717-1783, F).



